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SLOPE= Rise = Changeiny-axis = _ya-.vi_
Run Change in x-axis Xg - Xy

Using co-ordinate point  #1 (x,,y, ) and co-ordinate point #2 (Xy, Yy ) substitute the values
into the equation. ‘ ,

SlOpe: Yo, 2

X2 0 X
EXAMPLE:
co-ordinate point #1 (2,7) Thereforex, = 2: y, =7 and x3=-5: Yo = 3
co-ordinate point #2 (-5, 3) Substitute into equation i1z 4= 4
Find the SLOPE of the line that contains each pair of points. CIRCLE YOUR ANSWER
1. (5, 3)’ (‘1; 1) 2. (5, 6), (2, "2) 3- (59 '1)1 ('3’ '4)
4. (-2, 3), (4 -1 5 (7,3, 3,9 6. (1, 6) (-2, %)

7. ¢1, 0, (5 -1) 8 6T (43 R CRONCAE

10. (4, 3), (-5, 4) 11, 2, 3), (1, 0) C12. (22, <3), (5, 10)



